=

al x14 [6] x14

=3

B| x14

X X 4 3

- [lbensb

- OKCUEHmMpPUK

- 3a2nywKa aKcyeHmpuKa

- [lIkaHm 8x30

0 - Bauryugaembiti drobenb ghukcayuu nomok
e - SKCUEHMPUK 0151 MOMoK

X - Hoxxa mebenbHas 27 Mm

3 - Camope3 ¢ npeccuwatibod 4,2x25

U - llImanea ebidsuxHasi 288

k - Camope3s 4x16

a
6
8
2













u - lemns HaknadHas [14Cl1
K - KnecmoobpasHasi MOHMaxXHas! niaHKa ¢ e8poguHmamu

11 - Camope3 3.5x15 \\“%Q)
M - Pyyka ckoba e ﬂ%@x 2
H - Burim M4x20 )

0 - [lemnichep 05151 ycmaHo8KU 8 Jaluky nemsnu

ﬂ@XS

\s ) 02y




11

12




